’i’ ﬁ Y r 1& bbn phan s6, thir tu cac phép toan

Tén: Ngay thang: Piém:
1 1 1 1 1 1 1
—_— - X =+ - = —_— - X =4 - =
3 6 2 3 6 4 2 5
2 1 1 2 1 3

29+ = —— 4+ -_xZ-=
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2 1 1 1
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1 1 3 1 1 1 3 1
—_— - X =+ - = — — — — — X = =
2 3 5 3 2 2 2 3
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bbn phan s6, thir tu cac phép toan

Tén:
1 1 1 11
—_— e X -t — = —
3 6 2 3 12
1 103 13
204+ _=_" =6—
90 x 9 5 7 615

2 1 51 1
5 71X 577=01) = C3)

1 5
Sh14x-+7=2

4 6
I 1 3 1 19
—_— e X -t — = —
2 3 5 3 30

N =
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Ngay thang: Diém:
I 1 29
—_t - = —
2 5 120
I 3 5
—_ X - =
2 4 24

1 1 9 1
5 =30%5+3=(-5) = (+43)
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